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I the questions. d the corrqSPO"

i de an
il) Choose and write the best option €0 . deposits. _
Assertion : Sporopolien is preserves pollen in f_OST“ ddpbio'logica‘ decompos“m“' * vl
ial resistant to physical an . e, reason
n wall matena by Assertion is false  are true

Reason : Polle
n and reaso

a) Assertion is true,
c) Both assertion and reas

is false :
) d) Both assertio

on are not true A

The plant which reproduce through leaves e
a) Murraiah b) Gingifer <) DE}
t trait is not sex dependent, 15 @) ReciprOCa\ cross
-

The export used to prove tha
¢) Back cross

a) Monohybrid cross/ b) Test cross

Match the following correctly.
i) Monosomy - a)2n-2. a) 1-a, ii-b, lii-¢, iv-d
il) Tetrasomy - b) 2n+ 1 @lc, ii-d, iii-b, iv-a
iit) Trisomy - c)2n-1 ") I-¢, li-d, lii-a, iv-b
iv) Nullisomy - dy2n+2 - d) i-d, ii-b, ili-a, iv-C
Which of the following one is used as a Biosensor. _
a) Electrophorosys ,--@Biorectors c) Vectors d) Electrophorosis

£CO RI - cut the palindrome sequence of DNA at ,
c)’ AATTC 3 d) \CACGTA 3

a) 5'CGTTCG3’  b) S'GATATAZ . 5
3'ATCGTAS’ 3’ CACTATS’ -3 CTTAAGS’ CTCAGT
Secondary metabolite is obtained from this technique ‘

c) Protoplasm culture@_(:ell suspension culture

a) Organ culture b) Apical meristem culture

Cryo preservation means if it a process to preserve plant cell, I

a)-at very low temperature by using ether b) at very high temperature of 121°C

¢).at very low temperature of of - 196°C using liquid nitrogen d) encapsulation by using agar
4K 2=

Note : Answer any four questions only.

What is cybrid?
What are the tools used in Genetic Engineering.

What Is sharbati sonora? How It is developed?
Give the names of the scientists who rediscovered Mendelism.
What is meant by cytoplasmic inheritance?

What is pollen kit?
Answer any three questions. Question No. 18 is compulsory. 3X32

What are double fertilization and triple fusion.

Differentiate incomplete dominance from co-dominance

What is Genetic map? Write any two functions. .

Draw and write shorts on PBR 322.

What are the advantages of artificial seeds?

Note : Answer all the questions.

a) How will you avold the growing the microbes in nutrient medium during culture ;;rocess" %Nlhj
! <

the technmiques used to removed the microbes. (OR)
b) Is their any possibilities to transfer a suitable desirable the gene to host plant without vector?
r

your answer.
a Yhe 2 i
) When two different genes came from same parent they tend to remain together during inh
@

‘:))\'wa‘: is the name of this phenomenon? Ii) Draw the cross with suitable
) ] 3 .
rite the observed phenotypic ratio. (OR) b) With suitable diagram explain the structure ¢
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mc(‘ 1) Answer all the questions, li) Choose the mast appropr

al
ternatives and write the option code and the correspanding answer:
d) Both 2 afil b

In
wlhich type of parthenogenesis are oply males Pfﬂdvced?
a) Arrhencloky b) Thelytoky c) Araphitoky

Find the wrongly matched pair,
fall i oestrogen and progesterens

a) Bleeding phase )
Rise In oestrogen

b) Fallicular phase :
€) Luteal phase . Rise in FSH level

d) Ovulatory phase . LH surge | EA—

Three children of family have blood groups A, AB and B, What could be the genclypes uf t ‘: “l - ’

b5 I4I° and 1°1° gy 1e1% and 14 I* dy g and 19 1 4

is estimated to D& about i

&) I*1® and 1o1%
The total nurnber of nitrogenous bases In human genome
a) 3.5 million b) 35000 ¢) 2Smillion

The metabolism of lactose In E.Coli does ot requirgé GNZYIME ... .vreees
a) nuclease b) permeése c) B, galactosidase

Lippes 100p iS5 8 c.ueereereeccrenr IUD,
a) Copper releasing b) Hormone releasing

dj 3.1 billon
d) Transacstylase

c) Hon medicated d) Hone of the abuve

AIDS virus has
a) single stranded RMNA b) Double stranded RNA ¢) Single stranded DA d) Deuble strandsd GHA

who proposed the Germplasm theory?
b) August weis man

PART-11 ,
| 4%2 =8

¢) Lamargck d) Alfrag ‘Wallace

a) Darwin

Note : Answer any four of the following questions,

What is meant by surrogacy?

What Is pedigree analysls?

What i< known as paedegamy?

Define Transcription?

What do you know about coacervales?

What are the gymptoms of mental depression?
PART - ITX .

Note : Answer any three of the following in which question No. 18 is compulsory. IN3~2

Why is the off spring formed by asexual re_prod\\:ctlon referred as a clone?

Meritlon the symptoms of Downs Syndrome,

Mention any three rain objections to Darwinism,

Placenta is an endocring tissue - Justify?
State any three goals of‘ the hiuman genome project. : ?
PART = 1V -
Note : Answer all the questions, 2K5< 0
a) Explain the various phases of menstrual cycle. (OR) é
b) Explain any five techniques of Aselsted Reproductive jectnotogy (ART) hpa DIk Ayt allan 1
a) Eaplaln the genetic basis of ABO blood grouping tn rmiaft. (OR) b) Darvii's finchga Bik
marsuplals are sultable examples of adaptive radiation, ustify the stetemerit , S
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